trig day 3

May 09, 2018

1. Graph f(8) =3sin6-2
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2. Graph f(6)=—4cos6+1
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3. f(6)=2cos6 -3

Amplitude: 2 Period: 2T

Vert. Shift: clc'wn 2 Increment: “2 )
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4, f(6)=-sinf+2
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Warm Up: Match each equation to its graph.

£(6)=3sin6 -2 1(6) @050+3 £(6)=3cos6 £(6)=sin6+3
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Example #1: Graph f(6) =cos2le P o d _ Z‘W- _
Amplitude: ) Period: Co SA' =2 -
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Horizontal shift:__CD Key Values: 0 W 2 P NTT
. 2 . . = b d Y b
S e e rﬁ'\\ p 3 MR X
\\\ /’
- = S
] ~ 14;\ 1 I ELEEE 3
G o_-_ G0N D’:_,/z-q | Q\\\{'\ 5
& -~ I - -— —— p— -— -— — W\\




trig day 3

May 09, 2018

Example #2: Graph f(6)=-sin46
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Example #3: Graph f (6): sin(e— %]

Amplitude: —\ Period:z—ﬂ-
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Example #4: Graph f(6)=3cosz(0+g] = 3% (oS (2 ( D"PE:) >
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Example #5: Graph f(6) =sin(30-n) = 4P Le Y= Sin (3 ( e- ﬁ))
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